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Φ(x, y) :=
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a?Qr i?�i i?2`2 Bb � mMB[m2 TQBMi (x, y) ∈ [0, 1]2 bm+? i?�i Φ(x, y) = (x, y)X

3X G2i f(x) #2 � +QMiBMmQmb 7mM+iBQM QM R �M/ H2i

fn(x) :=

∫ 1
n

− 1
n

(n− n2|y|)f(x− y)dy

r?2`2 n Bb �Mv TQbBiBp2 BMi2;2`X S`Qp2 i?�i- �b n → ∞- fn(x) +QMp2`;2b iQ f(x)
mMB7Q`KHv QM �Mv #QmM/2/ BMi2`p�H Q7 RX

NX S`Qp2 i?�i i?2 7QHHQrBM; Bb �M BMM2` T`Q/m+i QM i?2 `2�H p2+iQ` bT�+2 V
TQHvMQKB�Hb Q7 /2;`22 �i KQbi 2 �M/ +QKTmi2 �M 2t�KTH2 Q7 � #�bBb Q7 V r?B+?
Bb Q`i?QMQ`K�H rBi? `2bT2+i iQ i?Bb BMM2` T`Q/m+iX

〈p, q〉 := p(0)q(0) +

∫ 1

−1
p(x)q(x)dx.
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RyX amTTQb2 i?�i A = (aij) Bb �M n× n +QKTH2t K�i`Bt bm+? i?�i
n∑

i=1

n∑

j=1

|aij |2 ≤ 1.

a?Qr i?�i �HH 2B;2Mp�Hm2b Q7 A HB2 BM i?2 +HQb2/ mMBi /BbF {z ∈ C : |z| ≤ 1}
�M/ i?�i 7Q` �Mv r < 1- i?2`2 Bb �M A Q7 i?2 bQ`i /2b+`B#2/ �#Qp2 r?B+? ?�b �i
H2�bi QM2 2B;2Mp�Hm2 λ b�iBb7vBM; |λ| ≥ rX

RRX 6BM/ �HH x2`Qb- TQH2b- �M/ 2bb2MiB�H bBM;mH�`BiB2b Q7 i?2 7mM+iBQM

eπz + 1

eπ/z + 1

BM i?2 +QKTH2t TH�M2X *QKTmi2 i?2 Q`/2` Q7 2�+? x2`Q Q` TQH2- �M/ 7Q` 2�+?
TQH2- +QKTmi2 i?2 `2bB/m2 �b r2HHX

RkX G2i C ⊂ R2 #2 i?2 +B`+H2 x2 + y2 = 4X A7 u �M/ v �`2 irQ TQBMib +?Qb2M
BM/2T2M/2MiHv �M/ mMB7Q`KHv �i `�M/QK QM C- r?�i Bb i?2 T`Q#�#BHBiv i?�i i?2
HBM2 b2;K2Mi DQBMBM; u �M/ v rBHH #2 2MiB`2Hv +QMi�BM2/ BM i?2 �MMmHmb A ;Bp2M
#v 3 ≤ x2 + y2 ≤ 4\
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